Ohm's law 

1. Calculate the current through the following resistors: 

(a) 100    connected to 240V    (b) 4700    connected to 24V 

(c) 10k   connected to 3V    (d) 2.5M    connected to 30V 

2.  What is the resistance of the following? 

(a) a torch bulb that draws 0.25 A from a 12V supply 

(b) an immersion heater that draws 10 A from a 240V supply  

(c) a watch taking a current of 0.25 mA from a battery of 1.5 V

4. Under what conditions is Ohm's law obeyed?

5. Under what conditions is Ohm's law not obeyed?

6. The two graphs below show a specimen of metal wire at two different temperatures. 

(a) calculate the resistance of the wire at each temperature 

(b) which graph shows the higher temperature? 

(c) does the material disobey Ohm's Law? Explain your answer.

7. What is the resistance of the components whose VI curves are shown at the points marked R in the following diagrams?


8. What voltage is required to give a current :

(a) of 2 A through a resistor of 200 ?

(b) of 50 mA through a resistor of 1000 ?

(c) of 200 A through a resistor of 300 k?
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